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D C . B A Questlons [ ey -
;g,ff‘-;' J{:{é( /‘._{:Jhé»‘ _ J{:JJ‘:T - t’/Uy_‘wlLff'{u:a/}‘(}/ : ) frl:;uid-’ 1
Mechanical . Longitudinal _ Mobile phone sends and receives the message in the
waves Radio waves waves Sound waves  |form of: _
—Dl——— ——[>o— ——[Do— : —[Do— ‘e § i) 2
The symbol to denote diode is:
XA XZ Ax AXE Se bbb e b T tel| 3
A+Z £EN Generally an atom is represented by the symbol:
s g L wa/d}t/(!ur/ 4
t resistance of the circuitis: . .
) Ri=2Q
1Q 6Q 36Q2 11Q
VY
V= 6V K
. A s S uulww..f ¢l s
g7 Gt gAY | Gy AT
Sound energy Heat energy | Potential energy | Kinetic energy |The shock absorbers damp the vibrations and
' convert their energy into of the oil.
. EHditn| 6
gHe gHe ZIH 3,H e ,Cc?mplcte‘tlf?oﬂowmg nuclear reaction: -
o ;éfii ﬁ!—[ §3H . 0n + Energy
T
T . Jit T IO ik AR AN Y e PO
2 5 2 2T If the mass of spring mass system is doubled, then
2 2 e :
its time period becomes:
b4 -
Wm Wn? Wm™! W2 o , K5HnT| 8
The unit of intensity of sound is:
ﬂ=£ sini =sint =§E _smr ‘ .:c“.u/_G'bU‘i/ 9
Vv sinr sini Snell's Law is:
9x10°Nm2C 2| 9x10°Nm2C? | 9x10°Nm2C? | 9x10°Nm~2C? _ 14’“"3‘{(“ Sl | 10
, The value of k in Coulomb's Law is:
X=A+B X=A-B X=A-B X=A+B A ¢'§-¢/11‘dij’.’J~‘/..‘jt 11
) Boolean expression of NOR gate is:
No=10N, | vy - =101 N= e w0 aHukl | 12
10 10 The turn ratio of a transformer is 10. It means:
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(Part-1 Jil4aas )
Werite short answers to any FIVE parts. FBO, ‘r,_z -éaylzj‘.?épIZIé&c_éf
L—?é@hl/‘(}l)&dlﬂléugu:’ﬁ'(ﬁﬁ @)
~E oGS - E QLI G
Differentiate between conductors and insulators. Give an example of each. 3
Write the equation of Gamma decay for cobalt §$Co. . .:«M/OU'{ L LS ggCo (iii)
Define electromagnetic induction. -éqfd’uy}lv@%}gl (iv)
ey inunidned ; £le & St Buglt )

How the force acting on the armature be affected by increasing the strength of the magnetic field?

State Ohm's Law and write its mathematical equation.

Write two properties of alpha and beta particles. - :—_l..-r".»d/)?/&c;nlu&’ (vi)
Complete the given reaction: m+PBus¥Basr_ + Y M 6L s (vii)
What is the difference between a generator and electric motor? "aJ/l_fuf/‘: )7./:1/‘:’8.4 (viii)
Write short answers to any FIVE parts. 8z a&'ﬁ/‘?érﬂzlékc.gf
How the depth of sea can be measured by ultrasound? St é/ryl“ JM (,(/Vd_/ﬂc'_.qu?ﬂ/‘/‘J‘ (i)
Sound is a form of wave. Give its reason. -ér.?:d/gﬂ _c‘_fbﬁdfg; 230 (i)
Define capacitance and write its unit. -a‘fc/'ngulé._yiJﬁm{ (iif)

- 0.5m m’%’wiMOms"' ir i?l/.éépl"‘u’.';g/.&!’%l/ (iv)
Calculate the frequency of sound waves of speed 340ms™! and wave length 0.5m.

~E O S bty SRS e 3 b )

Does each capacitor carry equal charge in series combination? Explain briefly.

Define internet and write its two services. -g{_/fatéu&j I/sl{; - /."J.b:/‘-l (vi)
Write two advantages of electronic mail. -ﬁ:‘"})’é(ﬁuﬂ;g‘ (vii)
Is electric intensity a vector quantity? What will be its direction? ?Jny’;/&/ 1 ?‘L/lﬁ}.{:vgd’*"’i.f}glg (viii)
i ey L i€y S
Write short answers to any FIVE parts. - :«Uf./"’ W ZIGb e
Distinguish between longitudinal and transverse wave with diagram. -_éugf l'f.rl/y;“}/'{)g;gf};ti;’ulw:jl} (i)

8m =8e/ 6. B eby it pleihie Kbl iy

Find the time period of simple pendulum of 1m long on moon if gm = ge /6.

Define principle axis and focal length. -5{_{’/7@(4?@‘){ sl /"’/‘J’{{ (iii)
Define reflection of light and draw its diagram. _é/;lﬁc_(l/gl?:@f V1 -_é.g/."tfu’“ﬂj‘f(ﬁ/ (iv)
What is difference between real and virtual image? ‘.’.:‘:.J/'\:'/ULAALG: lJ;;/mIJ‘v w)
Draw a symbolic diagram for OR gate and write its truth table. -E’fd‘;’;}ﬁj lu"@bzrl/(y}u? U&J.‘/_( OR (vi)
Define analogue quantities and give an example. -é:;Jk‘ﬁ‘ul__&: J;Ju:/lﬁ;flﬂal (vii)

What is meant by Boolean Algebra? Sesl Ve At (viii)

-uj/.’.' 09 ZJisz -é{fa@lﬁﬁoulr»c;(jf «pdsd 4
Part - II, Attempt any TWO questions. Each question carries 09‘marks.

, - O (B G) Sest e 2B 281 (i)
What is meant by electromagnet? Explain the function of relay with diagram. ,
WUn G AT R 20 S Py i) 1 5Ae ] ~ WOVAESIHOAE PG (L)
By applying potential difference of 10V across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?

B S i DE g1y 6300 et e TR ()
What is meant by noise pollution? Write its effects and methods to minimize it.
LTl 2C 4 ‘/,‘v{‘gt'@'n»f”@/_lg 0.03C 4U17 bl (wl;{»bg}";'?‘zcdﬁd/ 6V i E i (L)
’ ’ ?Z,un/(ué)u é‘fé Z

A capacitor holds 0.03C charge when fully charged by a 6V battery. How much voltage would be
required for it to hold 2 Coulombs of charge?

_éc)de/;J(wu;J&)Ulﬁléu’éi,ﬂ ()
Explain with the help of activity that waves are carriers of energy.

,gjfryb’yw/:lgﬁ){_‘(f@ _9,1‘44,L:G£]2cm chcmigfid/fﬁlJ{f _§_4cmdlf;lu(()'ug )
An object 4cm high is placed at a distance of 12cm from a convex lens of focal length 8cm.

Calculate the position and size of the image.
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Q#L/;LJC/'I)JWJIlvégli!://);ufu;fbéé.)&Védlr/:{(é@i: ..u_fé{'._:D s C B cAcaW!.:«ﬁ‘lgédlg/; /::U',
-(nzr"wvlﬁuﬁ‘ﬂou’d/i_/i/:‘ab’ LL/JU:/’buLJaug Ry AR |
D C B A Questions / o Uiy A
V_(J'/' .:‘jc.d) d/c—c;«z 33 19 ?Jnu&)a;(!fgu(f‘g'u%JU)’IU"{)'J}JT]{UJ/‘Q’ 1
From negative | From positive How will be the electric lines of force where electric field
Closer to positive to negative Apart is strong?

Fedupt | S | dond | e b bolex obnd 20 sl uuw:uyué .J/ 2
Cannot be Remains l‘) ) I‘ ’ According to Coulomb's Law, °K¢.//tu’/w;Ju-6w£
determined unchanged SR nereases | what happens to the attraction of two opposntely charged

objects as their distance of separation increases?

A 22 S 1 ey e bﬂ/u"{de,‘ (J/tﬁ-/:?’ 3

Vertex Focal length Focus Principal axis | The pole of spherical mirror is also called:
. ¥ - 2,2
0° 90° 45° ‘Lﬁ’ﬂjgﬁ 4
glass is
4""“5-%‘ {’?%’ (4o N c_/W/uLJKCd//Ul 5
Amplitude Wave length Period Frey) he pitch of sound mostly depends upon:

2 P " =

Jg;p(dg ‘ J{':d/u’u igsgks 5729 1% Ldt"&})g}}!&g’ &

Water waves | Light waves | Radio waves | Sound waves | The example of longitudinal waves is: ‘

(t5r (- (% &z :%u.f‘;wl;.(lg;:/ 7
Sodium Thorium Polonium Uranium | Which is not a radio active element?
AT 0 Ju?,;.,g J?_lgnu’ﬁ J\./JJ}) w’ﬁc’_//zjw -LU)JJU.JQJ./:‘/ lg/r‘{f 8

Nene of these B} One quarter One half | The ha.llf-hfe ofa f:ertam 15(.>tope is one day. "Jnujf

What is the quantity of the isotope after two days?
X=A+B | X=AB | X=A-B | X=A+B . eerrifedle 9
Boolean expression of NAND gate is:
JT&'I":' 2% G Sy Zc"_t'll;fc"_t'/r"'i/.uufé)ﬁ%;fdé/uﬁfl{‘ 10
MS Office Browser Gmail Email The application used to view web pages is called:
g/ £ (2 & L scde b i 11
Energy Voltage Charge Power Transformer is used to change the value of:
U C sl B uf._af’lf‘g‘.éul u_.tq/lﬁfd%: (JE(/_/LJ’LF“’VQ :J’FZUU"J}%J/‘Q‘ 12
Both B and C | Have different | Are the Are the same Electric potential and emf:
units different terms terms
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10  Write short answers to any FIVE parts. -4&&&/:?&:'2'&&:,6/
State Faraday's Law of electromagnetic induction. _é:r ut,.uit?&“" & (ﬂ'v@.’—c}/‘g‘(b;‘z ®
Differentiate between motor and generator. -5’;: LD SR 2y (i)
Write the equation of Gamma decay for cobalt §9¢Co. -é’gol:l/&,)'i L LGide o (i)
Write the causes of background radiation. _ -éay;?: J"-'ldéziﬁl/ug (iv)
Define fusion reaction and write its equation. -4@'1‘/&} l,,i_é - /."d/u:"'-/ it (v)
Differentiate between cell and battery. . & ﬁ;&)u Ll GEaE  (vi)
Define electric power and write its unit. -d‘_’/u/ﬂ/lméfd/" JJLJ/‘OI (vii)

. s e bllize B pMp2aehnd L7 W‘J/ (viil)
In order to measure voltage in a circuit voltmeter is always connected in parallel. Why?

10  Write short answers to any FIVE parts. -é&&&/‘%ﬁp%'é&;&f
Define pitch and quality of sound. -_é.@/‘.’&?l)jﬂ@g,(]hl' (i)
Write two uses of ultrasound:, in the medical field. J&WQUW!»uﬁ'ﬂfﬁ&xéﬂwﬂl (ii)
Sounds of how much frequency, a normal human ear can hear? ?‘aCCJ}Ml/JU;I}%K(}UIﬁVg (iii)
State Coulomb's Law. Also write its mathematical form. LS S oS Ut~ ITE A (V)
Define electric field and electric field intensity. -Z: - /U u’/"w.f /au,uUJ/‘al W)
Differentiate between information technology and telecommunication. -éubu/u‘-’ J"C )IJ’ G JLH/‘AM (vi)
How does fax machine work? "ad/r Végj‘/\fﬁ (vii)

":_U/U/u‘" /U:C’/ﬁ’dj,«pjﬂdj/ S A /rf (viii)
In computer, what is the difference between primary memory and secondary storage devices?

10  Write short answers to any FIVE parts. Ju[ﬂi/‘fép’/ Iétcd/
State Hooke's Law and write its equation. —é//leVJJ lulc‘i/ - /’Ju:’ bLJ (i)
What are the necessary conditions for a body to execute simple harmonic motion? Y ubL/l/du/’JJ/meJ/ (ii)
Define the term mechanical wave and write its types. _éxirustméJ/u?,J/"c (iii)
Ditferentiate concave and convex lens by diagram. £ (‘: l;u/&uéri/l.l)u" /JJ( fulgc( (iv)
How the reflection of light graphically verified? -Z—(u b‘c,ud/ulfu’a’rﬂfu V)
Distinguish between regular and irregular reflection. °¢_u/b(u" u’awbd.mwb V(i)
Name the four uses of oscilloscope. -é//vﬂlf‘/ll bl ksl (vid)
Define the terms digital and analogue quantities. -é - /’szlyﬂbl»ld"{ 5 (viii)

A 09 Ldivg g pfeinlctne (i dlaa
Part - I, Attempt any TWO questions. Each question carries 09 marks.

1+1+2 QL,JJ/)gs.//Z/)JB/J/éJUJL)AJ(‘/KU) °c_)l/(/cc.// ()
What is meant by electric current? Explain with the help of diagram that how battery is a current source?

05 02 bos 3L EHLESS 60-2I ot 126 e Ju525 TS 60-2 B 174 (L)

Cobalt-60 is radioactive element with half-life of 5.25 years. What fraction of the original sample
will be left after 26 years?

L+1+1+1 St Al ottt St Sestpfe ST (L)

05

04

05

What is noise pollution? Explain 1ts sources, effects. How is it reduced?

-c{ )"’/W’(,(C/(p/:’u:’dfé//éﬁbé 0.1m Zsle < 0. 8N J/iJJ'{JVJJ[.]/laf/Ld-.ﬁ» (\_a)

The force of repulsnon between two identical posmve charges is 0.8N, when the charges are 0.1m
apart. Find the value of each charge.

_éwu)c;dl/(!:’u’/)dﬂdwl c’jJ/"Ju’}’h ()
Define wave motion. Explain with example "waves as carriers of energy".
VJfl/dVﬂJC'(b) ¥zl Tl(a) Hi6cm m’ag){i&//.c_l//abé:f 10. 5c;//fﬁv,t(3ov( Gns)

An object 30cm tall is located 10.5cm from a concave mirror with focal length 16cm. (a) Where is
the image located? (b) How is it high?
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